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0;npux <0
F(x)=7A%* (x —%sin(2x) ];npu 0<x <7 - QyHKIMS pacpeeneHus J0JKHA ObITh

Lnpux>n
HEIpEPbIBHA, 3HAYUT

F(0)=0=A *(x —%sin(2x)] = A*(O—%sin@ *0)) = A*(0—0) = 0 - uCTHHHO P MOGEIX A

F(r)=1=A* ﬂ—lsin(2*ﬂ) _A#[ z—Lxg =A*7r:1-1/ICTI/IHHoan/IA:l
2 2 V2

OTBeET 1: A:l
/4
0;npux <0

F(x)= l*(x—%sin(2x)j;npu 0<x<rm
T

Lnpux >n

O'npux<0

S(x)=F(x)=1—"% (1 —Cos (2X)) npu 0 < X <7 - hyHKIKS IIOTHOCTH PACTIPEICITCHHS —
O, npu X > 1
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MX:Tx*f(x)*dx—j *f(x)*dx+j *f(x)*dx+j *f(x)*dx =

—00
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—j *0*dx+jx* *(1— cos(2x)*dx+j *o*dxz—jxdx—%jx cos(2x)*dx =1, -1,

0
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L lx =u;cos(2x)dx = dv
Izz—jx*cos(2x)*dx: i . . Uudv:uv—jvdu]:
T du = —dx;v = sin(2x)
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=— cos(27)——cos(2*0) =
cos(2) cos(2%0)=0

I, = ;’j%sin(Zx) *%dx = i]zsin(Zx)d(Zx) = (ﬁ cos(zx)]

L=1,-1,=0-0=0

x=0
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P(0< x<%j :F(EJ—F(O):l*(z—lsin(ﬂzn—o =i*(n—sm(n))=”2—'0= 0,5 - 510
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